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SECTION—A
Each question carries 1 mark

[ Question Numbers 1{a) to 1(j) |
&R & g 1
[ o2 %74 1{a) 3 4 1) % |

ST 2 I 1
[ 2m 7 1{a) (<7 1() %]

qiAR gl g 3 1
| Wi T 1(a) Foema 1) fem |

1. In cach of the following questions, four answers are provided of
which only one is correct. Choose the correct answer :

6o wFaTE) o SRS TEA WE | 4 fSEAE BT 0% | 9% TEA A
=i, .
i =g

S5 wfel gmwe TRY 2@ TEA ST LITE | WA Wi GERE 99hE W |

e AEEm WEEE ed fEem fmm 2 sf omm oaeee’ &)
13 fsramd) arma' faem

(a) Let A and B be two sets. If n(A-B)=60, nfAn B)=13,
then n(A)=7

A ¥ B w6 ¥ T n(A- B)=60, n(An B) =13, ('@

nA)=72

AR B iﬁ; sefe i "[A“B]=60. ”lA(—\IB':la. TR
nA)="7?

A s B W 93U f95 n(A-B)=60, nfAnB)=13, sl
n(A)y=">2

(i) 45 (i) 20

fiii) 73  (iv) 30
.
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{ 3 )
f(b) 1 A=[1, 24, then the total number of relations on the
sct A is
A =1, 2), C2AETH AT GoET %' W T WUER e 1°7

TEA={1, 2}, U%A A-G4 S5 TIT O @D Heodd e %04

fg A =11, 2), 37en A TR wrm 9@ TarE TR AR FmE
(i) 4 (i) 64
fiii) 8 fiv) 16

(c) The value of log0-15 is (Given that log3=0-47712,
logS = 0 69897)

log0- 154 s+ 27 (frm =78 & log3=0-47712,
logs =0 69897)

log
log 5 =0 69897)

C

5-£ T ¥vE (Fem HWE A log3=0:-47712,

log0 15% oM s (vmm 2 f@ log3=0.47712,
log 3 = 0-69897)

i) 1-17600 i) 1-17609

(i) 0-17609 fw) 1-7600

) irc, = ”Cy[;.' # ), then the value of x+ y 1s

‘a2

T "C,

It

"Clx 2y ESTEH x -y AT Y
ufe Cy = "Cyix = y), T X+ y-93 TH ¥

F’Ti ”C.\' = ncy(_,: z y), = o+ _t;f-? Tt W

(i) n () |n
(i) 2n fiv) 1
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(4 )

fe) The quadratic cqunlion whose roots arc Si, =5i is

% faure st g9 10 Si, 50 ¥ Hawah 3'4

gy fawre sheasem @ g6 Si, -5i ¥ HarRh wa

T TS AT T AF 5i, -5i ST S Jo
_ (i) x*+25=0 (i) x2-10i+25=0

(i) ¥2-25=0 fiv) x2+10i-25=0

(f The value of ngaq(ﬂl Py is
log 4 (m Pya < 2'q
log, 5 (m P)gm 3= 73

Iogaqllmﬂﬁ T AT

i) =log = ) ~log m
q a { p g

-

fii) glngm., fiv) %I(:gm“
fa) The value of cos120” is

cos120° 2 T 22

cos1207-£3 = T3

cos120° 1 w1 37

() 1/2 (i) -1/2

fiii) \3/2 i) 3
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4
(h) The value of 1+ )" [J+E_J 1S
1
4r' 1\4
L+1"[1+=] asm %2
\ L.
A n?
{ll'l' 1+—_ S | ST
o0
Vi X
A+ i (141 F v wmim
\ t
fij 16 (i) -16
fiii) 8 fiv) -8

(i) Two non-zero integers a and b are called relatvely prime if
wB1 W W R o T b wremeEe CTTEe AT T

e WA WG N @ £33 b-lh nrefEsesT (e a7 70 Al

w3 enfer’ 3fz m' smfam o s b o) mE=ah T gE I

b
fi) GCD(a, b)=ab (1) GCDla, b)=-“
(i) GCD|a, bl:‘; fiv) GCD{a. b)=1

\ () The gradient of the line y=31s

y = 3 CYIMEE SRTI T
y = 3 (i w2 v

y = 3 TS AT ST

(i) 1 iy O

fiii) -1 fiv) V3
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SECTION—B
Each question carries 2 marks
(Question Numbers 2 to 9)
TC® SR N 2

(2% 573 2 WA A1 9 L)

AT 2TER NS 2

(2r0 74 2 (U7 O o)

(T T7m 2 w9 fim )

In @ survey of 530 students in a school, it was found that
175 students drink milk, 300 students drink tea and 110

students drink both milk and 1ca. Find the number of students
who drink neither milk nor tea.

£5F %ZTA 550 T frnt Qe @ gy T A

AT e @ 175
TR R4, 300 ¢

WEINE TR 10 BT i wm o T

T TR T I e s e A s frety way |

AT %A S50 wa et MO EwD W MW (= (@,
175 %9 ¥%, 300 w1 W g3 |10 = TR R o e W
COTTD% T 50 FrwiSa seey ety =
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‘\3' If A, B and C be three sets where Bgc A, then show
that [BxC)c AxC,

% A, B m* C ffl woft ws Be A, (U oea A
(BxC)g AxC.

U A, B en: Cfaall 9ufe gat Bc A, e Gvie & (B xC)c A xC.

3 A, B @it Cwmum gy 3m B ¢ A, s=n TR R (B xC)c AxC.

OR / =1%71 / wea1 / U1

Dl
A_ -}z ]1=]|z3|= 1, then prove that :'l" +— =|zy + 2|
Z &>

|
. . 1 1
ufe |z, | =|zp]= 1, CETE'TE AW w4 T ro— =2y 2l
z)1 2|

S
R . :Izl -o?,2|
Z] &

T 2y | =lzp] = 1, TEE SN IR

1 1
s .|:|21+32I_

fam |2, | =l2o] = 1. 370 10 Grem
4 I -
zr 2y |

4. Find the condition such that one root of the equation
ax® + bx + ¢ = 0 1s square of the other,

fm 5% ax? + bx + ¢ = O FARATEHA <8 37 Wl 2l 2, ey 33
fm vzt ax? + bx + ¢ = 0 HReela @3l 5o wwiha asf %3, fidfo 9o |

mmmaar2+bx+c=0mﬁﬁﬁimwﬁﬂﬁﬁﬂﬁm.
el
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S. llow many words can bc formed using the letters of the

word ASSAMESE?

ASSAMESE *ibi4 w420 faum we ezm #faq «q1fz
ASSAMESE *miim o ges Bl 91l «m aw s aoce o= o

ASSAMESE wWiZiafs wrarsicat il wem 2 wrm?

ABCD s a cvclic quadrilateral and PQ is a tangent at A to the

circle circumscribing the quadrnlateral If BD is a diameter,
ZABD =30°, then ind £PAB.

ABCD -‘-:-.t“ ! f':.. 7_'__5* Bl r'o A '."'.-o '-'.'F""'“-*r,t.l q,.r%l;-ﬁr; ;I—-—yaﬂ TTTH
A T BD 44T WP W, LABD - 30°, (% £ PAB A W1 TR |

ABCD @=55 b5 v58% g PQ, A fivme veislin ofifafie 7 =2
oty '}'I';'.; f”‘) ?7-.*‘,.- “T -1] :-‘\.BD :30-. -31.-:::5] .{PABH q.,l xa

L
B it

ABCD s . ssanfd st PO, A faitsn smnfndfs gomma v
Ble

s ]
-

EREnT il if 8D 55 i T W, ZABD = 30°, 37
ZPAR TR @ 2 gl

s

Show that Vi + =i =2,

- I -
RS A T+ /-1 = \5.
G1e @ i+ Vi = 2.

i =~

ﬁﬁq f'i \ri 4 \,;?ll = \."E.
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{9 )
Find the equation of the line which is parallel to X-axs and
ut o distance of 3 units below the ongn
TSR 2034 SAsa 5 T Y. v rmne we PR o 3

ELE s e K 3

A sEwza (e o X-wrse woEmA on ede ofF 3 L3

= -

..
3
D
r.
2

i swew frga e xR e owm qft feEfwm 3 mamf
AARTZET MR TR WL

A sccant NAHI 1s druwn to a aircle from w point X external to
the circle and XT s a tangent. XA =12 cm and XB =48 ¢m,
find XT

Al agq <2fe Noq v qaiile NAR LTE 6N Ui XT L3P meofa

Ho 2% 0TS XA = 12 em W% XB = 48 cm, XT s |

g2 gran Aot X o g3l umg XAR 3% v g2 XT 23 mapeta
e T TE X4 = 12 em &2 XB =9R em, XT @2 &

s ants e feen X T SotEn XAB W0 W ma’m oanh XT A
a2 rmt AT @ F2 XA =12 cm WA XB = 48 cm T
XTuh fega
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SECTION—C
Each quesnon carries 3 marks

(Question Numbers 10 to 23)

STE® 4 Yy 3
(2w 44 10 52 w4 23 29)
STER e TATS 3
(% 799 10 %04 23 *73)
RIFTR FrE Fsamg ear 3
{ ¥ e 10 faum 23 )

10 Let R be a relaton defined as R ={lx, ywi:x -y is divisible by
5 for x, v¢ 2. Show that R is an equivilence relation.

R ¥l ¥ 28 Ry, wixycz TF (x-y) 54 &EE)
CIST (0 R &b W Feet

R #edfla Sl TR R -i(x, yhix y€z 9 (x-y) 5 wa ey,

s 3R LFG W aw weed

R @i LIV WAR R=ix, yl:x,yez ¥ (x-y) W 5 A
wama) | 2R f2 R s s s w@en)

11. For any two scts A and B, prove that

nMAUB)=n{A)+nB)-n(An B)

i (= B »iefT A W% B e 2
nAvB)=n(A)+n(B)-n(An B)

&L it A e B s TR @
AV B)=n(A)+nB)-n(AnB)

wraferaTn 98 O A st B R v wrem wem
nlAqu=n[A)+n|B]—n[A’\B]
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‘yi Find the amplitude of — - "3'
V34§
vz e | "3'
V3+1i
cren o agm L2Y30
V3 +1i
T e 1—1;‘@_
V3 41

13. Prove, with the help of mathematical induction, that

124324524 .. 2n-12 :§l2ﬂ—gi2n+ll ne N

SIS WA v Ed HEMT 49N TR &
2 2 n[2n—2t2n+ll ne N

12432452+ + (2n-1)

. . -1
1_3132 '5_-“ | _(2”_”3=n|2n 3)!2"4-1) ne N

st A Az AT FEEE T

‘ 2n-DNi2n+1
12432 .52+ +22n-1) 2 _nian _3%_‘_’_'_ -1) ne N

14. Find the value of (0045)!/°. (Given that log 40632 = 4 - 608868,

{ log 45 =1-65321)
(0045)}/0a =@ thisa (o WT® @ log40632 = 4.608868,

log 45 =1-65321)
(0045) /623 T= (@ F®I (Gt e (1 log 40632 = 4 - 608868,
log45 =1:65321)
(0045)\/6 3 W P (FFM % {2 log40632 =4.608868,
log 45 = 1-65321)
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2n . . 25n
23‘_+51n2——-+sm2—§+sm2§£—=3,

16. Show that sin 3 3

3

16. Show that 1. Py +2.2P,+3-2P3+ -+ n."P,

927 258 . 28r
C“'QS"C'I @ SII"I2 — + sln 3 l 3 sin =3.

2 1 221'.' -25 28

% St . o8mn
f’ﬁlﬁqm2§+3m ?-_;+sm?-§+sm2——=3_

ﬂ*lp

n+l =L

.

17.

B19-AM (E)/46A

egs a1 P+ 2.2Py+3- %P3+ 4 n P ="TIP, L -
s @1 Py +2.2P)+3.%P3 4 4P, =mlp -l

Pfafa1. 1P +2.2P) + 3. 9Py 4o n Py = "R -

A, B and C arc any three points on a circle. The bisector of
ZBAC cuts BC at D and the tangent at A meets BC at O when
extended, then prove that OA = OD.

ot 73 exms 350 fan A, B W% C T ek 1 TR ZBAC A MM aze
C 2 D &z =% 7335m A e i@ BCe (9 fam frea) O feee

-

10, (LR TN T OA = OD.

<2l 3E 2oma foald fm A, B 91 ¢ wme ) o £BAC-@ R
BC@ D frz a1t 721 A frre »pfd BC@ (afs -ouR °m)
O 772 0CH, TTEA = 7 (1 OA = OD.

THa AR W wAem f = A, B s ¢ o aEm wE | fig 2BAC B
TEEEIR BC W D fvm smy gl A Refism wifemmn BC@h
(WETEN FHER 39M) O =13 7am'd e S urem iz OA = OD.
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Show that cos20°cos40° cos60° cos80° = Tlﬁ’

3 8¢ (M c0320° cos40° cos60° cos80° = -1-15.

¢S (1 cos20° cos40° cosH0” cos80° =

-

e

fef 72 cos20° cos40° cos60" cos80° = T‘ﬁ-'

19, Show that the square of an odd integer can be written as 8m +1
N\~ when me Z,

20.

B19-AM (E)/46A

(e Eqt 1 WL REMA 45T 8m + 1 THL 2V sfaafaneme Z.
FEe TR NOME 1F Sm - | T Z@M 3N T T me Z.

f2fu f2 a3'n swfamts se 8m + ) 92 SrETEd ¥ WA m e Z.

a rectangular field is 88 metrc and its area

The perimeter of
tre. Find the length and the breadth of the

is 420 square me
rectangular ficld.

om e s o 88 i w WA A 420 A
mﬁhﬁﬁlmﬁfﬁml

2 wrERn o3 e 88 IR g3 @ M 420 BRIR ) =z
i @t OF (R 0 )

sa am we wmfy iz R 88 frem M AR asemyRn
420 aifiver) STaAR TS 3 TG g
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21.

<

B19-AM (E)/46A

( 14 )

' teach

A committee of 5 members is o be formed rroﬂ;‘ﬁ T::'lem'meccbr:
and 4 female teachers. In how many ways t:hc committee?
formed if there be ot least one female teacher in the .

6 ¥ Frwa 2 4 aaF Fofide gz am grm 5 s 20 7S afn
e s s 205 7 Fns as@ Frefd e O T femm
ML TR FR0! 9 gfaq o o

6 s e w2t 4 T BeafiTE o (o= 93D 5 TR oD NN AT
A el afyre of Aw s cam FrafD e W UmA BT T
¥ H47R 2TT aIm wm orme o o

momtfvannm4w1hﬁmﬁrr=rﬁ-mmm5ﬁ WTRTZ 2/ J

UEE WTEEE YR g mm i g A e 8= Al A
W2 27 T

Prove that tan30 - tan 20 -tan® = tan 301an 20 tan#$.

AT A4 A tan 30 - tan 20 - tanf =tan30tan20tan 6,

A FA A tan38 -tan 20 - lan® = tan 308tan 20tan 0.

TR ey N3t -tan28 - tan = tan 38tan20tane.

Determine the angle between the lines w

hose equations are
3x+y-7=0und x+2y+9=0,

VTR a0t WA 3x ey -7 -0 uw X+2Y+9=0, o3 @
YT AR Al T e

T %% o SR 3x+Yy-7=09% x+2

Y+9=0, vis o oftn
ICA (TS (e e

q&ﬁﬁhﬁﬁm3x+y~7=0¥ﬁ

X+21+9=0, ey wd
AR it @' fegm,
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SECTION—D

Each question carries 4 marks
(Question Numbers 24 to 26)

TS 2 g 4
(21 77 24 7 oy 26 27)

ACCR 2w FaNE 4
(20 777 24 o= 26 f7)

RIS Ty faama v 4
( Wi 7 24 fawm 26 fim )

24. For any two complex numbers z,, 2z, prove that

[2) + 25 P+ 12y - 22 = 20122 + |22 |

fl e o1 =R it 2y, 2,7 AR 2T T4 A

2 2 2
|2y + 23 P+ )2y — 2512 = 21 |z)1°+ 122]° )

CQC‘I‘WTP I)T"'_I?l ?') .f.?j_.llr’"ﬁ'?."]cﬂ

2 2
|2y + 22 [+ 12) -z =217+ 2P

mﬂéﬁmz,.zjﬁwmmﬁ

12y + 23 P+ 121 - 22 =2( |21 +1221* )

OR / &3 / =%m / var

then find the valuec of the expression
b —ax3 +4x® -16x+60.

o x =3 +1i, e x° _4x3 +4x% -16x + 60 AFTIA M Tega )
x=

ﬂﬁx-.’i-&-z’!ﬂ?’lx _4x3 +4x2 -16x + 60 AR T 77 AN |

2
ﬁTSx:S.g.j_mx“ _4x3+4.\ -16x+60nﬁlﬁmﬁ§q|

| Contd.
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26.

Vy
x [y_5 JT
ma-g.quq\l;. |'x_§,x y=20
OR / 77 / 5w / ey

If ax?+ bx+c¢ =0 and bx? . cv+a =0 have a common root,
then prove that a+b+c=Qora=-b=ec

Wt tbycc=0T% bl 4 - a =0 @A Sha o seras pal
MR EEE R ST 0la s bec=0 TNa=b=c

‘f‘tua*.’J.t~r:0£¢~'.b.\'2vr_\'oa;Oﬁg’m—:}ﬁﬂ&%bmqiﬂ
SR BEHA CTE @G e by c=0 vy g - b=c
L2 e -
If.a.x s bx +c=0 ¥ py +CX +

@ = 0 wEmRay arafa Wi i
ﬁmmﬁr.mfmmmha+b

cc=0"Ng=p =

If a straight line cuts Interupts a and p

, from the axes, then
prove that equation of the line i http:

// Www.assamboard.com
.’.

NI
= ol '

=1

vﬁmmﬁmrﬂmwm

a 3% b oo =y, ISR
A A @ @AMTHR Fraas

B |x
.'
n

o

B19-AM (E)/46A | Contd
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( 17 )

v £ T e v

i 53 (e T3 g gay v @, e SR A
o e R

L™

Xy

a b
e 7 M v S S i @ W b TAETAET TER A1, WET
TR TR 2 v anmam

=]

XLu_
a’ b
OR /7% / wo /w1

Find the equation of the line which passes through the
midpoint of the line joining (6, =7) and (2, -3) and 15 parallel
to Av+-y + 5=0

@aTzEA TIRRs TRem G v (6, -T) TR (2, -3) T RO

AT S TETARTY T W4 x4 4y + 5 = 04 A 2

A

el e o ww oF o e, <7) 4w (20 -3) Py R
O R« T il T £33 x4 4y ¢ S = 0-ENOEETH T

gt T fres g v (6, -7) 3 (2, -3) fa= 2T men
mzrﬁmﬁmﬂ UTZ1 ST 3x - 4y + 5 =0 f 7w =y

http://www.assamboard.com
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SECTION—E

Each question carnes 5 marks
(Question Numbers 27, 28)

TS M= S S
(e 574 27, 28)

o STIR TIT S
(2w w7m 27, 28)

SrawI% araraft feare 7R S
( wtama T 27, 28 )

. 4 2 * o
27. If n is an odd inteper. then show that n” + 4n“+11 is
expressible in the form 16k where ke Z.

n & @ W ven T, e #A @ ont +4n? <112 16k, ke Z
M WwTe wfa

n oI WIS FeT TR, €F 499 20 0l nt o+ an? 41168 16K,
ke Z M7= eI iR

n 3 AT FA 0 =AW T, T aem 2 ont +an? 511 @
16 k, k ¢ Z W&t AT 71|

wod pieoquuesse mmm//:dny

OR / %21 / 9oz / van

ind the remainder when L1 + (2 + 13 +.. _ o
e 2110 ,
\/t;ry 12. [100 is divisible

U +12+13 + - +[100 # 127 =9 =faa sispen fays 3™, fadfy
Lo ‘

LJ+L2*L3*'+|MJ@]2WI?€IWET%&N¢—;-§M ﬁ;m
F h

U +12 + 13 + - +]100 % lz‘a‘in#mmwa‘mmirimmﬁqﬁgal

B19-AM (E)/46A
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28.

l191

Prove that the angle
chord through the
angles in the aliern

8 made by a tangent 1o o cirele with any
Point of contaet are respectively equal 10
ate segments of the cirele

ERT T @ GE Topt roefana wrra b W ome mwa e % A
T TR G0 warea 3 o o caie e

__-: N q"-"p‘ rr,»inl—?‘ r.n1|| Ter _.. .‘IF -ﬂ n ‘3‘—1 l'"T-- -.-T-v m ﬁ -'-'1
#1957 TUrET 95h

.—\
T
i |
G 'l
‘ﬂ

BRI b 2 At e B X T (ARG FE HET

s JEm 2 odEaiy sifze emnan stz faaf meE SEm FmaEen

ffaemia Fenaam w'amem g dmafa I oarn 4@  ErMATE
ZISTPT € ST T

OR /+ 37z JoaT

Show that the bisectors of the angles of a triangle are

concurrent,

J""“if'l" I:’ T:_‘_""_.' _;1'-[ _-..rl‘1 rcli 7.‘ -I'..H 4 r'—""]ﬁ|l

-
=

Wk
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